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4 (Sem-6/CBCS) HE2 (CACC) -
2024

COMMERCE
(Honours Elective )
Paper : COM-HE-6026
(Consumer Affairs and Customer Care)
Full Marks : 80 |
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed :
1x10=10
woe AR o opiie Oed il ¢
(i There is freedom of entry and exit in
market. (Fill in the gap)
TGO A S A RGOl ST |
(T 212 %79 )

(ii) Customer dissatisfaction happens when

 purchased products or services fall
beyond their *

(Fill in the gap



Al wPTefy cofeal =7 @fem @ = A
3 CRI codtETS 3R AF|
(Tl 212 999 1)
(@) Write the full form of DCDRF.
DCDRF-3 =3¢ (o1 feial |
(iv) What creates a uniform price policy
throughout the country ?
T (00 @ wifen JEHite [ IR Fee
(v) Which date is observed as World
Consumer Day ?

R Cotrere firemr m oIfRcd #1202

(vi) COPRA is related to ot
‘COPRA’ 3 Fore AR
(@) Environment-friendly products
IR Sgget A
(b) Organic products
e A
(c) Protection of Consumer Rights
oS! DT T
(d) Child Rights
e Sfdes
(Fill in the gap with appropriate option)
(TH3@ [RPeed el 212 939 71)
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(vii) Which of the following certificates is
required for Jewellers in the market ?

TGRS TERFITE AR FRERS @l amideigs
? AT 22
' (@ FPO mark (‘FPO’ 0%)
(b) BIS Hallmark (BIS Z&9I)
() AGMARK (49%1%)
(d) None of the above (8% G018 72H)
(Choose the correct option)

(8% [RPsCol R CAG)
(viii) Who issues the ISI mark in India ?
©iRes ISI BF @A S T2

(a) Food Safety and Standard
Authority of India

SRSY AW JTH TF AT FOAF

(b) National Standard Organisation of
India

ORER G TFE TR

(c) Bureau of Indian Standard
SRS AFT JA

(d) Both (b) and (c)

(b) B (c) TCABIR

(Choose the correct option)
(w7 RPEeD! JIR Cered)
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(ix) Which of the following is not related to
the right to choose according to the
Consumer Protection Act?

xRS @G Sorerel % iz SR
A TR SRR Gee A~AF© =3 2

(a) Right to select only specific
product or service

@ [Wiwe S @ Gl AR 119
ST

(b)) Right to access of variety of
products or services

ey A 3t ol 2ig FI” AR

(c) Right to be assured satisfactory
quality '

TGS AW HFES T SEF=
(d) None of the above

@799 «ole A
(Choose the correct answer)

(&% GGach! JIz Clera)

(x) Central Consumer Protection Authority

is a Regulatory Body.
(Write True or False)

@ ToATSIE] T FYAT (R IF
27| (9w (98T )

4 (Sem-6/CBCS) HE2 (cAcC)/G 4

Answer the following questions : 2x5=10
oo @l s Ues ¢

()

(i)

(iii)

(iv)

(v)

What is Service ?
il e [ 2

State two distinctions between
wholesale price and retail price.

AR S Il JeTS ASrs 7o) AL S
- |

What is ‘Pecuniary Jurisdiction’ ?

‘wifde Sty cRa’ Wi 62

State fwo grounds of deficiency in
service for complain registration.

St AGER AR CRN Seke 767 ofe
T 4|

Define MRP.
A AT R s Ko Tz

Answer any four questions from the
following : 5x4=20
weTe TAERE o e bifeer eMe Sed T e

() What are the alternatives available to
dissatisfied consumer ?
TEE TSGR A THed REsEE 59
4 (Sem-6/CBCS) HE2 (CACC)/G S Contd.



(ii)

(iii)

(iv)

(v)

(vy)

Write a note on Consumer complaining
behaviour.

@W@amﬁwwﬁemaﬁm
ot :

How can mediation help in easy
resolution of consumer protection ?

ToATOIG! FTHIT A FAALITS THZOZ, (FEMCA
TR B AR 2

Discuss in brief the recent development

of ‘Citizen Chartar’ in India for

consumer protection.

TAlSIG] FTHRE (Fa© SRS A9ifREE b
RO REMR [RI vIF SCEIH 341 |

Discuss in brief about the provision of
penalties for different kinds of unfair

trade practices.

e IRTe Aty SEER AR TR [T
RATTIR 53 Sl |

How are the consumer complaints
handled in the telecom sector ?

G W8T Sorele Se@TFER (FTME

gz 91 W2

4 (Sem-6/CBCS) HE2 (CACC)/G 6

@)

()

4 (Sem-6/CBCS) HE2 (CACC)/G 7

Explain the various forms of market
structure with their merits and

demerits. 10
HR i< SHRAPTRS Gice [ ewiee @R
shaffs e i <=1 |

Or / /3

‘Briefly outline the recent development

in consumer protection in India.

TRSIC TATSIE! FFHR (TS (KRS CHFe
[AER DS wife |

Explain the corporate and public
redressal systems. 10

A T ATR @ TR e

AR N

or | M3

Explain the organisational setup
comprising of advisory and adjudicatory
bodies under the Consumer Protection
Act.

Toreie! FE SRAS %ﬁr@ SRSl I
BRI S 21l 9100 AT AR
R i < i

Contd.



(iij) Discuss the Composition, Jurisdiction
and Power of National Consumer
Dispute Redressal Forum. 10

a@'ﬂ@o{t@@ﬁwﬁﬂ%w@m,ﬂw
mwwﬁmwwa

or | 72

Describe the salient features of the
Consumer Protection Act, 2019.

iz ! Wiz, 20589 IV RoraE T
el

(iv) Explain the BIS Hallmarking Scheme.
How does it benefit the customers and
the society ? 5+5=10

W13, 92, ZeiE S ACE T 341 |
3 oliRd O TNET @A SIS 02

or | A&

Discuss the functions performed by

State Electricity Regulatory Commission

for redressal of consumer gricvances.
10

oo S Sosifier A Afers Jme
ﬁﬁm@@mﬂmﬁmmﬂmw

341 |

i
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Total number of printéd pages—15
4 (Sem-6/CBCS) HE 3 (ACA)
2024

COMMERCE
(Honours Elective)
Paper : COM-HE-6036

(Advanced Corporate Accounting)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Sull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed :

1x10=10

o SR Bed fall
(i) In India, there are authorities
that can set and.issue Accounting
Standards. (Fill in the blank)

CReHe 2B Wi e T [ w9 o9
Ol SYAT R (3eT) 912 27 F9)

Contd.



@

(iii)

()

)

(vi)

Statutory auditor’s report forms part of
annual report by companies. -
(Write True or False)

2517l s R 2o @r=iiae A
AT g 27 | (8% (7 955 [73]1)

Payment made to secured creditors is
not shown in the Liquidator’s Statement
of Account. (Write True or False)

SRR [ bt Sifmye Sl emmiE Fers -

41 AR (RSN T | (IF @ T a3

What is meant by winding up of a
company ?

GRS Jfercet & et

Rebate on bills discounted for a banking
company is an income.
(Write True or False)

R 21T 19 AiGipe e @i (@713
GRY 917 | (% (7 q&% [30)

Profit and Loss Account of a banking
company is prepared in Form
of the Third Schedule of the Banking
Regulation Act. (Fill in the blank)

4 (Sem-6/CBCS) HE 3(ACA)/G

e )
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@ @TAINR S- ARG Boie @5 Raga

e COH SPHN __ HelES dF
= | (3T 31Z 7 1)

(vii) What is ‘surrender value’ in respect of
insurance company ?

T AR T T Wi 2

(viii) Valuation Balance Sheet is prepared to

~ know of life insurane business.
(Fill in the blank)
57 ToT 79 2 | (3Tl 312 93 )

(ix) Profit/Loss on sale of investment is
transferred to Profit and Loss Account.
(Write True or False)

e @R 29 (@R &S 9@l @b,
FS-(EIFHI REI7Te Zes 341 27 |
(% (o S5 &)

(x) What is meant by profit prior to
incorporation ?

AF-IHYE TS S Jeire & e 2

Contd.



2. Answer the following questions : 2x5=10
oo AR Beq foralr ¢

(@ Mention two features of International
Financial Reporting Standards.

SIEIIG R KeR eiforame M7 767 (e S
Bl

(b) State two features of Liquidator’s Final
Statement of Account.

SRPIATE bUIg T Zoi7i 76 (@fey foai

(c) Explain the term ‘non-banking assets’.
G- G SAnis G |

(d) What is re-insurance claim ?

TS A e 5 2

(e) Mention two features of an Investment
Account.

izl 2pisR 75 @iy Srae w1 |

3. Answer the following questions : (any Sfour)
_ 5x4=20
woTe FRIERE ©eq faeil ¢ (Rt o1ty

(a) Write ﬁve distinctions between
International Financial Reporting

Standards (IFRS) and Indian Accounting
Standards (Ind. AS)

.

4 (Sem-6/CBCS) HE 3(ACA)/G 4

(b)

(c)

(d)

(e)

4 (Sem—-6/CBCS) HE 3(ACA)/G S

T2pIed TGS SIere A 55! #{1e o7t |

State the list of preferential creditors in
respect of liquidation of a company.

(= SIS (Fae IS IRYS
AN O] Il 41 |

Mention the books of accounts to be
maintained by a banking company.

®RER @A AR RpieRERTE e

<41 |

Write a note on ‘reserve for unexpired
risk.

T SRR TRl A ST evqe <
R RERIN

Briefly explain the treatment of profit or

loss prior to incorporation in the books
of account of the company.

FINE ZI7eRle div-sriee A o 1
(EART 1T TER B3 i |

State different modes of winding up of a
company.

(i) SRR e eRpiatg 2o 2w |

Contd.



Secured creditors

4. Answer the following as directed : 10x4=40 :
(Secured on Machinery) z 1,87,500

wote fralaRs Mo Sed il @

Share capital : 60,000

Equity shares of ¥ 10 each,

2 9 per share called up Z 5,40,000
g% 3ede ¢ 60,000

AfSCEt 10 I 2930 (T,

9 BRI 9]

Trade creditors 7 1,90,000

AR oANGTIT

Bank overdraft g 40,000
RS ST

Creditors for tax and

government revenue NS5986500
39 < bIFI9) qrerzd A SR
Creditors for supply

of raw materials z 3,85,000

@OI-AN e s

4 (Sem-6/CBCS) HE 3(ACA)/G 6

P

_ s SIS AN
(a) SPM Ltd. went into voluntary hqui ation :

on 31% March, 2022 on which date the (TN TIFFTE)
position of the company was as follows : Interest due to
SPM Ltd 3 31¢ W6, 2022 ©If<Td (RAFO secured creditors 2 5,000
ST 2 S TR (P O] oS SIS NS MIesl o
i e onife ¢ : Machinery realised 2 1,80,000 and the
Cash in hand z 13,000 other assets realised 2 1,20,000. The
91 2IC® Sl liquidation expenses was % 8,000 and the

liquidator was entitled to a remuneration
of 6% on the assets realised excepting
cash in hand and 3% on the amount
distributed to the unsecured creditors.

Prepare the Liquidator’s Final Statement
of Account.

@A SIS & 1,80,000 B S O
Fo{ IR WM 57 2 1,20,000 B
S 3 8,000 Bl S 5l TS Sl AW [
FeAfG YR AR Y& €4S 6%
ARAEE IF TRARTN AeTmE Feas
AR 9 BRI CHTS 3% fifRRRE SRR
e A | ‘

SR pUTS KT f2piel ege =5 |
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10x4=40 " Secured creditors

4. Answer the following as directed : :
(Secured on Machinery) z 1,87,500

. e Gy 2SS
(a) SPM Ltd. went into voluntary liquidation :
on 31 March, 2022 on which date the (TEAIOE TIe)
position of the company was as follows : Interest due to
SPM Ltd ¥ 31% 5, 2022 wiftd @G secured creditors 2 5,000
ST 2 S IR (FTAIICO IS S O SR #ll eI el 7

Cash in hand z 13,000
<51 2T Sl

Share capital : 60,000

Equity shares of 2 10 each,

z 9 per share called up z 5,40,000

i5*| &7 ¢ 60,000

2fr5 10 5 2320 (A,

9 TFIT Tod

Trade creditors z 1,90,000
IS AN

Bank overdraft z 40,000
@ SfE

Creditors for tax and

government revenue 2 52,500
9 SIS bl rered A AN
Creditors for supply

of raw materials z 3,85,000

@HI-ANE @ireiat 2temia

4 (Sem-6/CBCS) HE 3(ACA)/G 6

>

Machinery realised 1,80,000 and the
other assets realised 2 1,20,000. The
liquidation expenses was 8,000 and the
liquidator was entitled to a remuneration
of 6% on the assets realised excepting
cash in hand and 3% on the amount
distributed to the unsecured creditors.

Prepare the Liquidator’s Final Statement
of Account.

AT SIFCIS 30 1,80,000 5 N )
FoifeeTEd SRS &7 2 1,20,000 |
SR 3 8,000 Tl i o QT S A [
FeAfE T Zd TMIACTN YT 84S 6%
AR WE FTREARTE ANeTVR FFe®
AR T PR SIS 3% AR SRARE
Gickasel |

o pUTS TS f2piet e e |

4 (Sem-6/CBCS) HE 3acn/c 7 Contd.



(b)

Or / 241

Explain the need and objectives of
corporate financial reporting.

o ey aforavas arEiETRe] o

ST 1Rt 541 |

From the following particulars, prepare

" Profit and Loss Account of Bank of

Boroda Ltd. for the year ending on 31%
March, 2023 :

wote firal Resepig 71«1 Bank of Boroda Ltd.
22023 9 31 g SEA T A

IS (G [2pie] (oRIT T 8

Commission and Brokerage 5,000
W H S A=l

ATM charges : 2,000
ATM &4

Discount on bills discounted 2,10,000
AT T AT

Auditor’s fee 5,000
2519 A9 g

Establishment expenses 60,000
TREIAA

4 (Sem-6/CBCS) HE 3(ACA)/G 8
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Interest on loans 2,80,000

Fojq S2{FO O
Interest on fixed deposit 2,98,000
EEIRIRESRESE S

 Interest on cash credit 2,40,000
5 AT STT9 79
Sundary expenses 2,000
IRIGERIR
Interest on Current A/c 45,000
RIS GRS
Interest on overdraft 60,000
NSRRI

Interest on Sav-ings Bank A/c 72,000
AT @F G IO

Printing and advertising 5,000
it Sl fReeio

Unexpired discount on bills
Discounted 55,000

BIEIERS foe1a T Sifedize

QIR

Rent and taxes 22.000
ool Ui 9

Contd.



()

Make a provision of 30,000 for doubtful
debts. Interest income of 2 2,000 on non-
performing assets cannot be recognized
as income in the Profit and Loss Account
during the year.

FACHREHS 9] Jid. 30,000 GFRE G2 T4 |
SRS A>T 2 OOOWWWW

ﬁmf%ﬂmt

Or / 9241

State the meaning of banking
companies. Explain various types of
accounts that can be opened in a bank.

3+7=10
@2 @i w2l foril | o1 ([R3Fe e of11
fafon eisis f2ploFTR i 41 |

From the following particulars, prepare
Fire Revenue Account of United India
Insurance Company for the year ended
on 31% March, 2023.

Wﬁﬁ?{‘ﬁ 21, 2023 519 31 A6© AN 1
T AN REARLGG ez T Fr=AIToIS oy
AT GFCD e 741

4 (Sem~-6/CBCS) HE 3(ACA)/G ~ 10

Amount (3)

e (5=)

Reserve for unexpired risk 26,500
on 1.4.2022 :
1.4.2022 SIS FE SO1R©

@RI AT e
Additional reserve on 1.4.2022 5,000
1. 4.2022 wifs wfelRe 7= &

Claims paid 32,500
I AR

Contribution to fire brigade 2,000
3| fisfes AR ST

Expenses of management 12,125
I U

Premium received 50,500
R (R T

Interest and dividend 9,000
O A T

Income tax on interest and

dividend 200
O I FTSJR*T 87T S

Reinsurance premium 4,500
o T fetfErm

Profit on sale of investment 1,000
el RS =i #ire

Legal charges regarding claims AT

4 (Sem-6/CBCS) HE 3(ACA)/G 11 Contd-



Reinsurance recoveries 1,350
I \J
Commission on direct business 8,550

AT TS el

Commission on reinsurance

ceded 200
SRR TE @life

Commission on reinsurance

accepted ; 150

SRR TR AR

Outstanding claims : :

SIS Wil ¢

On 31% March 2023 3,500

On 31° March 2022 4,750
Or / 51

Explain the method followed for

assessing the profit of life insurance
business. |

QI T AR w1 Wefae SRS 0w |

4 (Sem~6/CBCS) HE 3(ACA)/G 12

(d) X Ltd. which was incorporated on

1st May, 2023 acquired the business of
Y. i Dtdihonslstanany, 202 3 h e
accounts were closed on 30th
September, 2023.

2023 9 1*t May © [s9<@ (21 X Ltd.

«q 2023 § 1%t January © Y Ltd. ¥ <FR

wifferze 9ca | 30 September, 2023 © 2HiA

el 29 |

The Gross Profit for

- the period was 284,000

Details of other expenses :

SR ARPTIES R

‘General expenses Z 14,400

(Aot A7)

Director’s remuneration 224,000
(e i)

Preliminary expenses 24,000
(ehafEs 5A)

Rent up to Junfé 30, 2023 was @3 12,000
per annum which was increased by 30%
thereafter.

ol 30 T 2023 (51 = 12,000 T Rl
ofg) TS 30% (A 9% tafee |

4 (Sem-6/CBCS) HE 3(ACA)/G 13 Contal



Salary of the manager was agreed at
2 15,300 per annum. On formation of
the company the manager had become
a wholetime director.

S{f9pIeTrs 2R M) 15,300 Gl 41 wiifeet |
(AIRICE! 51 (I P12 2ARBIERe ZjefieTin
ALIETE 2 | '

The company earned a uniform gross

profit. The revenue from operations up
to September, 2023 were 2 1,96,000. The

monthly average of revenue from:

operations for the first' four months of
the year was one-half of the remaining
period.

Prepare the statement showing pre and
post-incorporation Profit/Loss.

@ARIGIE G0 G0 TP 51 OGPz |
2023 I (SEFIIA ez wAfe iifes
1,96,000 53! | q2<C5I9 22 BifE TS AEZI
2T 9T AT TRREIE ES e |
TG T Wjofd S (21 11 #Aflel (TR
93 ff oo s |

4 (Sem-6/CBCS) HE 3(ACA)/G 14

el
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(0] JAET/

On 1.4.2023, Mr. Investor purchased
1,000, 12% Debentures of X. Ltd. at
7 99 cum-interest (face value 2 100).
Interest is payable half-yearly on June
30 and December 31. The Investor sold .
400 Debentures at 2 102 ex-interest on
September 1, 2023.

Prepare an Investment Account in the
books of the investor for the year ended
on 31st March, 2024. Ignore income tax
and brokerage. -

1.4.2023 wifStd iz 30968 1000 Bt 12%
Mg X. Ltd. @R #=0 afes 99 G
7% (RS I 100 Tt) ooz @1 TR |
RS FS G 30 ©ifee wiiss formisa 31wk
37 AR e | (72 T B 2022
59 (BLEFH 1 Wit 102 5 v® 400 i
elo@ 7o MRS f2pivre i v/ |

12024 579 31 MBS @[ TR1CHE A

FACSIRETE RIS RKfcns) Bpiol 2iws
SIS A WA Srors) wfmy | i

6000
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COMMERCE
(Honours Elective )
Paper : COM-HE-6046
(International Business)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions: 1x10=10

TS AR BT UeT e
(@) Which one of the following is the oldest
international trade theory ?

wee [ral (I SibiEeE 3 Srwsites
S 0 ?
(1) Comparative advantage theory

DRI 4l o

Contd.




A

(b)

(c)

(i) Absolute advantage theory

P R4l og

(iv) Heckscher-Ohlin theory

.. ,
(i) Mercantilism theory |
|
|
|
|
|
|

Heckscher-Ohlin ©%

In which year product life cycle theory
was developed ?

ST b OGLHI (FINbTS A I C2fee 2
(i) 1972 (55a%)
(i) 1978 (>»av)

(it) 1970 (s»90)

iv) 1976 (s33v)

Which of the following nations is not a
member of ASEAN ?

(i) India (Si99)

(i) Brunei (12)
(it) Vietnam (fSr@5aia)
(iv) Laos (%ITp)

' Sem-6/CBCS) HE 4 (IB)/G 2

(@)

(e)

4 (Sem~-6/CBCS|HE4 (IB)/G 3

The G-20 Summit for the year 2023
was held in
3039 mw%—ao%ﬁm _ EfYe
2 |

(i) 7 Japan (S9i9)

(i) Indonesia (FCWITHEI)

(i) India (SF9)

(iv) Pakistan (2ifFEM)

The IMF started functioning in

____ [ IMF JN% SI9E S |

() December 1945 (1945 574 ferra)
(i) January 1946 (1946 559 GFAINE)
(i) March 1947 (1947 57 S59)

(iv) April 1946 (1946 571 @feRR)

environment is beyond the control
of the business.

IR (RIS iR R aifEs
() Internal (SISRESI)

(i) External (&)

(iii) Micro (TFHaMY)

(iv) Macro (FRaian)

Contd.



(g) The foreign direct investment includes’

(h)

()

0)

AOrF (@I RE@S SS9 2|
(i) tangible Goods (F<INIS #iy)

(i) intangible Goods (ST =)
(i) human resources (IR F=7n)

(iv) intellectual property (@S =)
Write the full form of ASEAN.

ASEAN F 57~ Feitol o1l |

Import quota is considered a tariff tool

of international business. (Yes/No)
wIEmi (o SEsiies e 9ot Age
9 FF = | : (Sa/ o18%)

The current account in the balance of
payments

3 AR fzpieie 24 bieTe f2pieithl 24 |

(i) merchandise trade and services

4 (Sem-6/CBCS)HE 4 (IB)/G 4

(ii) total of all the visible item of trade
- iR AR P <l 3o
(i) borrowing

e =TI

(iv) autonomous and accommodating
flow

FAIRTS O g1 ez

2. Answer the following questions in about 50
words : 2%x5=10

TS LIRS AT 6 50 B W e fvetw

e

(a) State two basic principles of SAARC.
SAARC 3 707 24 Tife S < |

(b) Why do nations trade internationally ?

() State the meaning of ‘tariff’ in
international business.

YRIETOF G (FI© ‘W *FoR 9 B |
(d) What are the main purposes of special
economic zones ?

AT oidftafed D% 24 Swey & o
(e) State two objectives of WTO.

WTO 3 70 Sty sl -

4 (Sem-6/CBCS) HE 4 (IB)/G 9 Contd.



(g) The foreign direct investment includes

(h)

(i)

0)

AOPF . ([ RE@ers _ wuee |
(i) tangible Goods (F*[<IiF =i<iy)

(i) intangible Goods (S i)
() human resources (JFI =)

(iv) intellectual property (@5 F=iw)
Write the full form of ASEAN.

ASEAN 3 7= ich! ferai |

Import quota is considered a tariff tool

of international business. (Yes/No)
SISl (Dl SwEies AT <t TGRT I
gl ‘ (®a/or%a)

The current account in the balance of
payments

_ 3 AR BZolere 4 bfre Rpiefht 29 |

(i) merchandise trade and services

Sem-6/CBCS) HE 4 (IB)/G 4

(it) total of all the visible item of trade
IR AR P T 5
(i) borrowing

A% CeT

(iv) autonomous and accommodating
flow

TIPS = Sz emim

2.  Answer the following questions in about 50
words : 2x5=10

OIS IHRS SRS T 50 i T W fowws

feare

(@) State two basic principles of SAARC.
SAARC 3 701 @4l Tifo S 51|

(b) Why do nations trade internationally ?

(c) State the meaning of ‘tariff’ in
international business.

SIS AMCET (TS @ =H0oE w1 By

(d) What are the main purposes of special
economic zones ?

g Stafes Swa 2Q4m Sy & &
(e) State two objectives of WTO.

WTO I 70 Tty &l

4 (Sem-6/CBCS) HE 4 (IB)/G S Contd.



3. Answer any four questions from the
following in about 150 words : 5x4=20

OeS AR R bifh 2HE Ted S&ob! XFa
fooge & g

(@) Write a note on green field investment.
CToE Cva R e <5l Gl ol |

(b) Explain the objectives of SAARC.
SAARC 3 Sy =G et 31 |

(c) Write a note on positive impact of
globalisation.

(SIETRITE -2k eoe aft G |

(d) Distinguish between balance of trade
and balance of payments.

Fiftea SRARY S 2ARNGE 2o TieT 2y
IGEIN

(e) What are the various sources of trade
finance ? Explain. ‘

I ey f[ifen TP @ ScEin
%l |

() Explain the benefits of international
business.

s e AerEed A=A 3 /|

4 (Sem-6/CBCS)HE 4 (IB)/G 6

Answer any four questions from the
following in about 600 words : 10x4=40

oele GRS 2% [l bifhIT ©e woo g
foosw ol ¢ :

(@)

(b)

()

(@)

What do you mean by international

business ? Explain the various modes

of entry into international business.
2+8=10

SEEios Jiftey I 3@ 2 Siesiies @R
AR f[fen g [KEe 39 = |

Explain the role of FDI in promoting
international business in India.

SITe© EEfes ST A" Faw
@ arepw [l (FDI) 3 SR <pi=m
< |

Explain the objectives and functions of
WTO.

) @ifdey Al (WTO) I Tomey TR: e
A2ACE il

What do you mean by product life cycle
theory ? Explain the defects of product
life cycle theory. 3+7=10
G H bF ©% I T g@le AE v
wetsR Ffen T Rag 2 <=t
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() What are the main objectives of the
Special Economic Zone (SEZ) ? Discuss
the contribution of SEZ in economic
development of a country. 4+6=10

RO® S os Sreeem w1 Sriomz & 2
G (749 SIS Czee SEZ 9 SRS [
SICEAD 541 |

(f/ Discuss the various reasons for
implementing tariffs in international

business.
TeEifos Jfdere ¥F @7 F98 [fey
FRPTEE RIS 4 |

(g9 What are the objectives of World Bank ?
How has it assisted the developing
countries ? 4+6=10

R (5T TR 2 [ @< @
G TTIT AT A AR SoRGHE 2

(h) Explain the role of information
technology in international business.

1 |
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1. Answer the following as directed : 1x10=10
oo MARRE Foe SR Ses g

(a) Industrial relations are not dependent
on human resource policies.
(Write True or False)

 COIfaRE T SRR T qifeq oRe o e
TR (Tat ¢ g 1&7R0)

(b) Trade Unions are temporary combintion
between workers and the government.
(Write True or False)

Contd.
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(c)

(d)

()

mﬂ\wmmmwwﬁﬁml
(= & = fw130)

Collective bargaining is a process of
negotiation between the employees and

Sthe representatives of the employers.

(Wnte True or False)
2 SHIEE eSS (R SR e |
(7= & 135 f=51)

Lack of job security is an cause of
labour turnover in an organisation.
(Fill in the blank)

SRR FR TSR GOl AES AR TR
Sffqao bl Pl (2 799 7)
A domestic enquiry is an internal
investigation conducted by the to
address issues that arise during
employment. (Fill in the blank)
T T (2% e e Sw
TSRS AN A T ST O |
(71 31 73 1)
A lockout without proper notice is legal.
(Wn'te True or False)

AT Gl St TG 34 |
(37a! ¢ g ferdll)
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()

(h)

(1)

Wwho among the followmg is known as
the father of trade union movement in
[ndia ? (Choose the correct answer)
oo G 1 T (SRS (Pl S T s
(5 TSI SNCHIES G (=610 2IfFfhw 2
(&% Gah) R Tere)

(i) Bal Gangadhar Tilak

AT sisliES foTe
(i) N. M. Lokhande

. G, ETRI0S
(i) Wadia

gifeal

(iv) None of the above

@299 UblE Y

A strike or lockout is illegal when it is
commenced in contravention of section

of the Industrial Disputes Act,
1947. (Fill in the blank)

v»8a 5E ST e wieem R 4|
Toeq) TR 450 A FTFNTE T TG 2 A |

(IR )
Workers’ participatioﬁ in management
is an important form of non-financial

incentive to the workers.
(Write True or False)
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SRS wfies wegd Wi FFa9 A

RER Twsifi @ wwgsyl w4 |
(372 ¢ 1= TezTsl )
() Mention the principal organs of the ILO.
ILO 3 24 SRR S 1 |
Answer the following in brief : 2x5=10
TS MAIRRE 53 Oed fat 8
(a) State two distinct features of industrial
relations.
it T 7o) e e S 4 |
(b) Why does an individual join a trade
union ?

T TG HEE AW BT 21 @9 73 2
() What are the reasons of misconduct or

indiscipline in an organisation ?

GBI FZI® OIS Wb A S PE IO <5l & 2

(d) Define ‘Industrial Dispute’ under the
Industrial Disputes Act, 1947,

Toifee [RRIM SNz 5899 Tk “Sraifare
fRam's <! fr |

(e) Discuss briefly the different stages of
workers’ participation in management.

sAfpIeTe Ak wxazes [ifeq «rfas Fa
5L ST 3 |

4 (Sem-6/CBCS) HE 5 (IRLL)/G 4

Answer the following questions in short : (any

four) S5x4=20
wee MAIEIRE ©eR @14l ¢ (Rigsizan 51f75T)

(a) Explain the role of employer and the
State in maintaining smoth industrial
relations.

12 SOl T™iF Iz A RS i
eSSl 390l 5 |

(b) Briefly explain the situations under
which the Registrar of Trade Unions may
cancel the registration of a Trade Union.

(T TR AGTCT (B REER G Aifes
T #[31 “fRREeT [Ra s i <=1 |

(c) Explain briefly the reasons for failure of
Works Committees.

TAARISANZR [RRFTOIN SRR G DI 51 |

(d) Explain the reasons of employee
absenteeism.

b TeATEeT SRR g |

(e) Discuss the conditions of layoff under
the Industrial Disputes Act, 1947.

o KM Sz 58499 wdiHe vRRpfea
SR KA ST 5 |
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DS Wi wiexiezd @ e AE
SIS Srelfeie s g e |
(72 A 1z Gl 70)
() Mention the principal organs of the ILO.
ILO T 249 SRaPTE Brad 41 |
Answer the following in brief : 2x5=10
TS MARIRE 5 e fra) 2
(@) State fwo distinct features of industrial
relations.
Criifals b 75! S cafiey Ser <= |
(b) Why does an individual join a trade
union ?

& G A A Ibro 57 (@i 3 2
(c) What are the reasons of misconduct or

indiscipline in an organisation ?

GBI FAZS SR BI5<¢l A S PRIl el 5 9

(d) Define ‘Industrial Dispute’ under the
Industrial Disputes Act, 1947,

Crifie [Ram @iz 55897 Sife Somifie
@m'E et |

(e) Discuss briefly the different stages of
workers’ participation in management.

AARBETIS i weeieze Rivy s Fac
B0 SIS 1 |

4 (Sem-6/CBCS) HE 5 (IRLL)/G 4

3:

Answer the following questions in short : (any
JSour) 5x4=20

eTe [ e 514 ¢ (gt yfao1)

(@) Explain the role of employer and the
State in maintaining smoth industrial
relations.

T2 SWIIE T™EF @12 e Fhes! S
353 B! 941 <541 |

(b) Briefly explain the situations under
which the Registrar of Trade Unions may
cancel the registration of a Trade Union.

(T© TR 2T (5T RE R A& 7 Ao
T 21 ~ifafERes R bt e < |

(¢) Explain briefly the reasons for failure of
Works Committees.

TAINORYZA [T FIRETIZ 30 51251 51 |

(d) Explain the reasons of employee
absenteeism.

I SATZST PR @R |

(e) Discuss the conditions of layoff under
the Industrial Disputes Act, 1947.

T KA SR $5897 SFHG HIERpoa
SSRT RACH SO 3541 |
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Discuss briefly the provisions of the
Industrial Disputes Act, 1947 in regard
to closure of an undertaking.

aB| STl % TR TGS SO [ S
55893 eI e 5es Scefoat o |

- Answer any four of the following questions :

10x4=40

oo WA AAERE. [ 5ifSET Bea ol ¢

(a) Discuss the various objectives of

(b)

()

industrial relations and the factors
affecting it in the changing
environmental conditions. 5+5=10

ol A [fen CSrm O FRefse
FRETIZ A SIS 1 |

Discuss the origin and growth of Trade
Unions in India.

TROS (JU G TS Wi e [
Sl 1 | |

Briefly explain the various types of
collective bargaining in an industrial
setup. Discuss the essential conditions
for successful collective bargaining.

2+8=10

4 (Sem-6/CBCS) HE 5 (IRLL)/G 6

(d)

(e)

SIS R R 4l TSR v R
BHCT IR | 7T AR WIS A A
BSOS R ST 5 |

Discuss the evolution of industrial

relations in India.

39 |

Explain the distinct features of the
Industrial Employment (Standing
Orders) Act, 1946. Also discuss the
matters to be presented in the draft
standing orders by the employees.

| S+5=10

 SUIfee SR (R SeE) BB, e 8vT

TN CERBIRR R < | S6ite [ w6
FHE A SO A6 T FRQ S
faTyEs R S=o 311 |

Explain the meaning of ‘grievance’. In
the context of industrial relations,
discuss the appropriate procedure that
can be adopted for grievance handling.

2+8=10

e5q Tieifed 9L JEiE Bl | Sl T
(orFIoipe \G6Gd Svile [ooifes A oz 5 f=a sy
oGS AANOA [RACH S 1 |
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(9) Discuss the issue of multiplicity of Trade
Unions in the Indian scenario. Also
explain the provisions for recognition of
Trade Union as guided by the Trade
‘Unions Act, 1926, 5+5=10

SRRSO (TC TTFT 729 [T
SlCA! 71 | FaITS (F& TTRTH Wiz 55367
wﬁtﬁﬁr@@ei@ﬁw%@%ﬁmﬁw

NG <Y |

(h) What are the various provisions of safety
of workers under the Factories Act,
1948 ? Explain.

mwwiﬂ,mswﬁﬁ@wﬁmwﬁ@
faaPTz & 5 2 i <4t | -
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1. Answer the following questions as directed :

1x4=4
(i) Data collected from household sources
are termed as data. (Fill in the

blank with appropriate word/words)

(i) Schedule is a set of questions asked
and filled by the . (Fill in the blank
with appropriate word/words)

(i) The first step of research process is
identification of problem.

(State whether the statement

is True or False)
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